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The functional equation for the zeta function
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New Finite Dirichlet Series
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Non-trivial zeroes for M = 1000, N = 2M + 1 = 2001
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Function vy (s)

o0

N
=3 o= S (1) = (1-2-27)C(s)
n=1

n=1

r N 5I’ n—s 0
r(s):AN(S):Z Z ,rV _51_1_2 2_

ZM )Ohn  Ona=0, ifn>N

r S
((s) = ﬁN() (s ZMNn

2 Al (s Zy: S, LN
C(S)% N( ) _ L 17N,

r _
VN,L(S) Y n=1 M/rv,n” s




Numbers log;q |13001,n| (slide repeated)
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Numbers log; ‘MSOOO,n‘
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log10(|145000.] ), magenta, if piho00 , > 0, green otherwise
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log10(|145000.] ), magenta, if piho00 , > 0, green otherwise
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Mgooo . magenta, if ugooo , > 0, green otherwise
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Calculating zeta derivative at zeros
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Calculating zeta derivative at other points
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Calculating both zeta and its derivative. |
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Solving this system for s = % + 1000i produces 908 correct decimal digits
for ((s) and 72 correct decimal digits for ¢'(s).



Calculating both zeta and its derivative. |l
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Solving this system for s = % + 1000i produces 752 correct decimal digits
for ¢(s) and 72 correct decimal digits for ¢'(s).
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